N = Ol & A

2000 = =0l & 2 BHa A

ton

A2 =1

WHO AZ Al D& =H

AYTA FH Y L 29

=

3 Al

A

_ _ _ Muo
SH-EH . S2(30) - MRAY - BES oy Sl ko HRE2
2= 15,478,547 16,852,613 A 1,374,066
2 2,900,000
Il 112,126
& 1,687,278
Al 10,779,143
2EA JIEXE 178,760 148,600 30,160
A EM Y Y 2 28,760 148,600 219,840
HO AZ S Al =& 128,760 148,600 219,840
201 ZEH2IH] 13,400 12,200 1,200
01 Atf2teld 10,800 9,600 1,200
O1 guragH| 6,600
DABCAl ST SR M=
50,000& x10¢! 23] 1,000
>2Uel AYTA HEXY B S=H
100, 000& *32!x23] 600
DAIEZA EE=E MAH 5,000,000& * 14! 5,000
03 2gag 4,200
DAYCAl H2SIY HHY
70,000& x302! 23] 4,200
2 TZ2YY) 2,600 2,600 0
O1 2222 % MA 2,600
DWHO MERT XIS ABEAl 248 23]
] 600, 000& *13 600
DSR2 AT A IS 2Byl
2,000,000& *13] 2,000
202 Oddl 6,360 8,400 A2,040
01 =LHoib 6.360 8,400 A2,040
OJI=2Z =380l 530,000& *12& 6,360
207 S OHEH 19,000 85,000 266,000
01 ¢844 19,000 85,000 266,000
OHLEA REXZA 2 D/BRS
19,000,000& * 14! 19,000
307 QI2HOI 90,000 43,000 47,000
02 glZtFatEx 90,000 43,000 47,000
OAIiZole (48 72) 25,000, 0002 *14] 25,000
OAI A2 H&E A 25,000,000& » 14! 25,000




SN HAMS D
BB H) AYSAl TS
Sl AATA FE L Y 2Y (9l &8

_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il i~ o Rz
OALHE 2ASY(BF=2MZIIHS o
) 10,000, 0002 * 14! 10,000
OZINER YLHT2IY 29
10,000, 0002 * 14! 10,000
OXEIA 018 B43 AR(0IS 22l8 S
) 20,000, 00021 *14] 20,000
NRIAAZT 50,000 0 50,000
SsosH(YAABL)HE 2Y 50,000 0 50,000
307 eI2to|H 50,000 0 50,000
02 LABNBE 50,000 0 50,000
O2SolsH(BMAL R ME 2
50,000, 0002 * 14! 50,000
ASIHI S 2 & 5t 4,316, 149 4,017,864 298,285
| 112,126
= 6,978
Al 4,197,045
HEHSSY 1,910,753 1,832,705 78,048
1,910,753 1,832,705 78,048
8,081 16,425 1,686
18,081 16,425 1,656
Al 6,000
=a)Ess ®II23
150,000 %204 4 * 122 3,600
SA)ESA BT 2
40,0002 x27 4 122 960
=a)ess el
60,0002 20l A #122 1,440
12,081
SA)ESA BB
125,000 %200 £ * 122 3,000
Sy 24)SHEYY U
99721 <8 Al 24+ 1052 +8LH 6,700
S4) H)
99221 +B Al 24+ 15021 #2CH 2,381
996,972 868, 580 28,392
SS2a3 996,972 868, 580 128,392
=X 20, 62 1552
2,073,400 %301 4122 74,643




A2 M=
MBS &85t
d2HsEsd
SN EY O (BH) - MRAY - BLS Aol Bl
Gil &t 0
Odge (XX @ F25+4)
2,073,400 x50/ 100321 x2 & 6,221
O&gE 2 (XX © JHHEZHI)
2,073,400 %16.7/100%30!x 12& 12,466
Oalds 2F(XNEX © HESIHHI)
2,073,400 x60/100+32! 22 7,465
ONYE SA(NEN : 2E4Y)
350,000& «321x12& 12,600
ONYE 2Y(NEK : 2=HI)
50,0003 #3021 x12& 1,800
Oalds 2H (K&K S4Adl)
250,000 *321x12& 9,000
Odlgle (XA @ A2 )
100,000& #3201 x12& 3,600
OalE 2H(XNEX @ IHESH)
80,0003 x321x12 & 2,880
OuelE 2% (M4 1 201, 721452 &
) 1,816,000 x 1521 x12& 326,880
oMY 2Y(sd4 : B4
1,816,000 %50/ 1001521 +2& 27,240
Oagd 2 (8= @ JIIAE=HI)
1,816,000 x16.7/100% 1521 x 122 54,589
OuglE 2Y(s4+  YEEIMM)
1,816,000& 60/ 100* 1521 x2& 32,688
OuYY 2Y(sd4 : BE4Y)
350,000& * 1521 x12& 63,000
OuglE 2 (d4 : =231|)
50,0003 x1501x12& 9,000
Odgd 2 (8= @ =4ldl)
250,000& 1521« 12& 45,000
O=JtE =% 400,000 401 x12& 19,200
Olial EEH(IE, 24,24)
40,000 1821 x5 x63] 21,600
OXXNEHH(IE , sS4, =4)
40,0003 1821 x52 x4 3] 14,400
OMEl PER(AT, B4, 24)
60,0003 » 182! x12& 12,960
O=UWoa Za3 15,000,000& * 14! 15,000
O=HMta Z&3 100,000, 0003 » 14! 100,000
OMAMIIE EEY 3,000,000 *121%23] 6,000
Oet=z8I|E S8 500, 000& *321x13] 1,500
Oalelg s4g o E|
100,000 35 =122 3,600




SN ALHSD
H: AQIK S & 3t
ool MEHSSY
SN - B E(3H) - NREAY - BAS Off AF ot =t
Off &k o
OUstSEAHY AZH| 1,500,000& 14! 1,500
Ost=ag=s4Y A3l 2,000,000& =14 2,000
OAE HM=H(SHE @ A=, |4,24)
150, 000& 1802123 5,400
OdYE =t (2de)
100, 000& 1802123 3,600
O& Y m=HI(YII=)
150,000& *15Q1%23] 4,500
OAlE m=H(T-A=) 50,0003 x 182123 1,800
O& Y ISy (YsHe)
200,000& *182!x13] 3,600
OagE m=H(FIIE : AE, =4)
150,000 *10Q1 23] 3,000
OMYE M=HI(FI3 @ 84)
200, 000& »521+23] 2,000
O4AlE T=HI(ATOIZE @ &)
200, 000& x521 %23 2,000
Oage m=Hl(21L38)
150,000& «1821 23] 5,400
OATH+ ERFU(AEE)
2,900, 000& *2H 5,800
Oz s+ ZHFH (AZHE, 15kg)
920, 000& 2= 1,840
OSAET M4 SRZY (AT, 20kg)
1,700,000& »2 2= 3,400
O u4 ST (AEAB, 30kg)
2,750,000& 22 5,500
O H4s ERAZYI(AE FIIH)
15,000,000& * 14! 15,000
OAT &+ ERFHI(GHHSSIIP)
1,500, 0003 x2=+13] 3,000
O N4 EREZ(HILHE)
300, 000& «574 1,500
o9z s 2383 (0HH) 150,000& 591 750
Oozds SHEE(LR: STINR)
100,000 *2 L x53] 1,000
Ogcd=s HIEBE(LE) 200,000& 59! 1,000
Osad4 SR (T2 MHSS)
1,500, 000& =124 1,500
O=4ad4 =l (A=A :6HH2S)
2,000, 000& 2K 4,000
OsSaN4+ 2R82(22E)
100, 000& x521+23] 1,000




SN HAMS D
M AIRIKSEA S
ool M2HSSA (St5: & 2)
_ _ SIEN
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o B2
O=a64+ 2283(0IE)
100,000 %27 +23| 400
O=aHs+ SHBE(HSII0)
100,0002 *57} %23 1,000
O=aM+ EASS(0IR2 )
15,0002 57} %23 150
O=aHs 2RSE(LABSH)
15,0002 x50 *23] 150
O=ass 2HSS(HEE) 500,008 +20H 1,000
O=aHs ERSE(QFIIMEH)
300,0002 *2H 600
O=a6s 2RSSOINY HE)
250,0002 * 1} 250
Oaele &x3 6,000, 000! *50! 30,000
307 QI2t0IF 885,000 935,000 A50,000
03 MESHZEZ 85,000 85,000 0
ORAFA ME3 2 85,000, 0002 * 14! 85,000
04 BIAABE 800,000 850,000 A50,000
ORI445] ZAZOIHE EH
200,000,000% * 14! 200,000
ORSHE 243 N 300,000, 0002 * 14! 300,000
OHSHSNEX 29 300,000,000% * 14! 300,000
401 ASHILLHY 10,000 10,000 0
01 Al&H] 10,000 10,000 0
ONYY =A(AS OHIIE) 24
10,000,002 *14] 10,000
405 THHF S| 700 2,700 22,000
01 XHALSEFHSH] 700 2,700 2,000
OMgE EB(AT, =24, F4) BYS
2IH 7Y 700,00024 *1CH 700
MEHSSA 990,976 983,752 7,224
| 112,126
= 5,366
Al 873,484
ASHSHA HE L 2T 2 760,592 752,400 8,192
201 gr2g| 9,000 9,000 0
01 A2t 7,000 7,000 0




SN ALHS D
Hal: NUHSE A
ol MBS SA (e19: @8
_ _ HE T
SA-EHB . CA(ENH) - HEAY - BE2 Ofl & o il i~ o Rz
O1 Zersg| 2,000
>2AE MSHE RBN B2 M
50,0008 *20% 2} 2,000
06 Yx2 5,000
PHSYLEX Y2 5,000, 0002 14! 5,000
03 A2 2,000 2,000 0
OMEHSDA L HSSA
10,0002 205 = 2,000
202 OiHl 10,392 14,400 4,008
01 =Uioit] 10,392 14,400 A4,008
OJl= 24301 | 866, 0002 *122 10,392
01 LB 3,000 3,000 0
10 SAAEI2AS 3,000 3,000 0
OMEHSNEX DI
50,0008 %691 +52 x23] 3,000
307 QI2t0IF 738,200 726,000 12,200
03 ABSHMEZZ 106,200 105,000 1,200
ORFA MEHSES 106,200, 00021 *14] 106,200
04 DINBARE 632,000 621,000 11,000
OX2AZ WSUE 2
400,000,00021 *14! 400,000
ORFAZII(H) MEHSSSHH3
60,000,000 *14} 60,000
OR173 ZACOAMEYE =}
50,000,0002 *14} 50,000
ORXI193 LT 9F DI2HE T3l
3,000, 0002 14! 3,000
ORFANL AHOIER 29
15,000, 00021 *14] 15,000
OMIE 29 5,000, 0002 14! 5,000
ORATXIADI(BY) H218) 2R WS
e 3,500, 0002 14! 3,500
OLRASXIADI(HH) 158 HE0ha]
1,000,0002 *14} 1,000
OLASXIADI(B) H108 Z7CHE
3,000, 0002 14! 3,000
OLAZXIADI(HH) M103] BILIACHS]
1,000,00024*14} 1,000




2A: ALY
. AN SESS
o MEH=sEsY (ctel s
B . M. CHe (5 HEAY . B2 A} OH MEE D =2
_I_—l'o—|'|_‘r|(9—|j:”)' '“_I_ I't:!';o—\ 01lt_—| 0;”/\|—OH |J.J_oc1
— T

02009 A

O
O

)
il
o
0

> Ml163

> K162

> H112

> M163

> X102

> K272

OZ AT XIAII(UH) H108 = U3
3

OZJSXIAII(HH) X163

Kl
Hu
|-
Hl
[

Il

,000,000& »14]

OZASXIAI(HH) H103 =, 5 403

3,000, 0003 * 14!

OZJZXIAII(EH) X158 23

1,000,000 * 14!

OZJSXIADII(B]) M9l E2CH3

1,000, 000& »14]

OZRZXIALII(EH) X108 =03

1,000,000& 14!

OZJZXIALI(BH) X108 EHRACCHS

3,000,000 * 14!

OZJASXIADI(E]) WM 138 =23

1,000, 000& »14]

OZZXIAII(HH) M203 HOIESUE

3,000,000 *14]
HENSZAU
1,500,000& 14!

OZRZXIAII(HH) X123 B2 CH3

2,000,000 * 14!

OB ZXIADI(HH) X103 BH=CIE T3

1,000,000& * 14!

OZESXIAII(HE) HM203 2ZU3

1,000, 0003 * 14

OZ AT XIADI(HY) M203 =,& SR0U3

1,000,000 » 14!

OZASXIAI(H) M103 THei=2ctol L
3

1,000, 000& * 14!
ERVE Sk s
12,000,000& *14]

ALK& 25,000,000 14

on

JIEFBI AN K|

M= Arslel oF i3l
2,000,0002 *14!

CHEsE &I HOESHS

1,000, 0002 * 14!

I HEAH0IEEUSE
1,000,000& =14l

I HOoEEUSE

1,000, 0003 » 14
H=EHOIsE U3
3,000,000 14

el

i
tol

=
e
ol

3]

2,000,000 * 14!

3,000

3,000

1,000

1,000

1,000

3,000

1,000

3,000

1,500

2,000

1,000

1,000

1,000

1,000

12,000
25,000

30,000

2,000

1,000

1,000

1,000

3,000

2,000




SN ALHS D
& AQIRSE A G
ol MBS SA (e19: @8
_ _ _ N E
SN B SRA(SIH) - MBAY - BAS 0l &k 24 o HlnE2
N EEEEEEEE
2,000,0002 *14! 2,000
> 108 ZRTOIABLRIHE (52
Alelgr2ldl thal) 2,000, 0002 14! 2,000
> H9B AACHA 20|03
1,000,0002 14! 1,000
> ZEHH A2 2,000, 0002 14! 2,000
2009 2RE 024 MEX K
7,000,0002 *14! 7,000
> HI8El 2 2= AI01 0 LIEILIATH
1,000,0002 *14! 1,000
>H33l St LRI MEHS o
g =& 2,000,000 *14! 2,000
>2EME 020 ZRH3
3,000,0002 *14! 3,000
Reictel MBHSXE B AL 146,496 144,060 2,436
g 73,248
Al 73,248
307 21210 146,496 144,060 2,436
| 73,248
Al 73,248
02 QIANAAMBZE 146,496 144,060 2,436
OXSEte MEHSEK BIXI AL
146,496, 0002 *14! 146,496
ol 73,248
Al 73,248
MEHSDY 29 15,332 17,334 A2,002
g 4,600
= 5,366
Al 5,366
307 2I2H0IH 15,332 17,334 A2,002
| 4,600
= 5,366
Al 5,366
02 QIAHABZE 15,332 17,334 A2,002
OMERS DALY 15,332, 0002 *14] 15,332
p] 4,600
= 5,366




fA: AZH=
M ANN=sEdE
el MEBHSSH (E49: & 2)
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
Al 5,366
HEH H=sgs N 41,856 41,160 696
Il 20,928
Al 20,928
307 QIt0IA 41,856 41,160 696
| 20,928
Al 20,928
02 QtFAE X 41,856 41,160 696
ozl Msasid 41,856,000& * 14! 41,856
| 20,928
Al 20,928
HEHSLUEAS 19,800 21,998 A2,198
Il 9,900
Al 9,900
307 QIZt0IA 19,800 21,998 22,198
| 9,900
Al 9,900
02 QtFAE X 19,800 21,998 A2,198
O0glol Msuns =29 5,100, 0003 * 14! 5,100
| 2,550
Al 2,550
O&FAHE Heuas 29 5,100,000 x 14! 5,100
J| 2,550
Al 2,550
O&daxs 23 2,700,000% *14] 2,700
| 1,350
Al 1,350
O&=HN=U3 5,400,000& * 14! 5,400
| 2,700
Al 2,700
OS8lg #2449 MsUz
1,500,000& 14! 1,500
J| 750
Al 750
MEHSEA 2SEXA 6,900 6,800 100
| 3,450




S ALHSD
M AN SEAS
CHel MERSSA (9l &el)
SH-EFHHA(FA) - NIRAE - BES O AFH %Eﬁiﬁ Hlws2
MEH Sl 2N Al 3,450
307 QI20IH 6,900 6,800 100
p] 3,450
Al 3,450
REFIEPSI=ES 6,900 6,800 100
OMEHSES 2HXE 6,900,000 * 14! 6,900
p] 3,450
Al 3,450
2Iles |4 178,000 158,000 20,000
2= 2IWA HE L 2AXE 178,000 158,000 20,000
307 QI20|H 178,000 158,000 20,000
02 SIZHHNBEX 70,000 40,000 30,000
O()Het2 | 2AX|2
70,000, 0002 * 14! 70,000
04 DIZHALEE 108,000 118,000 ~10,000
ORI153 st=2=2H2II0H3 HE
80,000, 0002 * 14! 80,000
OYFZ=AL A5 NE 8,000,000 * 14! 8,000
ORI58 &FAE 2I(0438]
20,000,0002 *14] 20,000
Z2s7 84 250,000 150,000 100,000
oD D2 X 250,000 150,000 100,000
307 QI20|H 250,000 150,000 100,000
04 BIABAIBE 250,000 100,000 150,000
OZD2=7 2| #AXE
125,000, 000! 14! 125,000
OZ2=7 2 X 125,000, 000! 14! 125,000
ool SR 100,373 67,340 33,033
= 1,612
Al 98,761
0ol MSESXE 95,000 62,000 33,000
01 YLerEaz 13,000 3,000 10,000
10 SAAHIZAS 13,000 3,000 10,000
OO MSHS &K Ol 2 A
13,000, 0002 * 14! 13,000
307 ©I20|H 82,000 59,000 23,000




SN

X{ ZH -
S =

chel:

A2 =1
AN2HSEd st
Zoo MEss

_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
02 LAANBE 9,000 9,000 0
OFojel AZx 243 X
9,000,0002! +14} 9,000
04 BIAABE 73,000 50,000 23,000
ORl2sl LR OOl ME S
20,000, 00021 *14] 20,000
ORI28] |AFAIZUH ZO0HQIEACHS
10,000, 0002 * 14! 10,000
ORI18l |ZAIZH FoHel MOl S20H
3l 10,000, 0002 * 14! 10,000
ORI38l ZASXIAH AIZTHE ZOHO H
OlEZCHS 3,000, 00024 #14} 3,000
OFZ0jol AEE#A KR 30,000,0008 14 30,000
Dol MBHS Sot2l X 5,373 5,340 33
= 1,612
Al 3,761
307 I2to|H 5,373 5,340 33
= 1,612
Al 3,761
02 SIABNBE 5,373 5,340 33
OZojel M2HS Sotel X&
5,373, 00021 *14} 5,373
= 1,612
Al 3,761
20 SUEHEY 886,047 826,067 59,980
RVHSHE 22 886,047 826,067 59,980
201 L2yl 701,453 693,631 7,822
01 AfRa2lt] 87,848 78,294 9,554
O1 L8| 81,908
>ENEYS ) 450,0002! * 122 5,400
>ROMSHE HLSE (SN 2565)
30,000, 00021 #14] 30,000
DASIERN BH 4 HUBLLE
45,000, 00021 %2 7%+ 122 14,580
>OISOHE HE(FE, 88E S)
6, 112,00024 #14) 6,112
>ENTYOIEEAS 35)
50,0002 122 600




SN ALHSD
HH: AQUH S
cHel: X SHUEHSY (crel M
- _ _ ME
SN -3H - S2A(2AH) - NRAY - BE= Off & 2K Ofl At ot HusZ
DAAS T2 (01H )
3,000,0002 14! 3,000
>4&AT AZBE 500,000 * 14! 500
> A4 ZE A 2,816,0002 14! 2,816
>HEE IS e 600,0002 * 12 7,200
> &I QHE I CH( & H| 1,400KW/b| &g
] 300kW) 3,000,0002 *14! 3,000
DASEY U Pap (8 S|
450,00021* 12 5,400
D&Y B +5B($ABA)
200,000 *1CH*123] 2,400
> &Y BY +4B(HIIZA)
2500002 104 * 13 250
DESHINANBAL BIFH +48
350,0008! *13] 350
DAAUAIIN(EL) HA42
150, 0002 *2CH 300
O4 TI=H| 5,940
DOl 22X 10000024 x301 %23 600
>OE DUH22X 100,0002 *301 23] 600
> X S Xl = X 3,300
OEFS 100,0002 *82! 800
oss, o= 100,0002 *821 23] 1,600
O+HUSE #E 150,0002 *62! 900
>HALE 1,440
os= 140,0002 *401 560
ost= 100,0002 *40! 400
ogst=s 70,0002 %401 280
OEt3H(7F) 50,0002 *40! 200
02 3224t 613,605 615,337 A1,732
O1 3222 2 AA 335,953
DAEE, BAR JSHAE LR
2 80,0002 *13] &1+ 122 960
>IR3 15,500,0008 * 128 186,000
> &SI ER3 11,000,0008 * 128 132,000
>EAWLRYS 1,500,0002 =23 3,000




S ASHF
M ANeNsgdal
[E=gall=]

£9): =0l

i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
PNESYRYI 2,000,000 *13] 2,000
DANUSHEAR 90,000 x12& 1,080
DOFAAID HHAZQ B2
00,0002 *13] 100
DYAAS 372%9,994m +123] 4,438
DESE BA(KSH E4H 45 ELE)
15,0002 *180E+0.85 2,295
DHEEX HA 8,500 x240E *23| 4,080
02 24| 145,304
>EAY S EHE(3E)
7452 %10 Al 2++3202 «3E 7,152
DEUR >2HHZ(3E)
74521 x 10 Al 2t%320 L «3E 7,152
DU, e A2H|I(ZAIDEA)
10,000,000 122 120,000
DWW, 24 QUE N2 3,000,000 »1CH 3,000
DAE 2 L AWEI| A2
2,000,000 *4CH 8,000
O3 Al &H| |RXIH| 132,348
DROIYSHE HARA
90,000,000 * 1Al 90,000
DROIYSHE HASA(SHE)
20,000,000 * 1Al 20,000
DEGE QF WAl ZX| 2
3,000,000 x 14! 3,000
PAEESE HPEH LA 52,000 *39CH 2,028
> XS 1,252 HPEH DM 2 22
65,000 «2[H *43] 520
>E2XD| ZH A ¥ 22
1,100,0002 *3CH 3,300
DAZEHAD ZEHDM 2 2]
750, 0002 x2CH 1,500
D2 I
4,500,000 *2CH 9,000
DEAITREH RX 2BL(HLEHA 2 2
08) 300,000 105 3,000
202 O] 4,404 5,316 A912
01 =2LHOIHI 4,404 5,316 A912
OJ12A2L340{H| 367,000 122 4,404
206 24l 20,180 26,580 26,400




S ASHF
M ANeNsgdal
el UMSHE2Y

_ _ _ Muo
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il b o bRz
EETI 20, 180 26,580 6,400
O, BHERIE UE 50,0002 * 1071 500
OFII, S, 2%, B, ZYYI(S
219l 205F) 300,000% 105 3,000
OUAT HH, ZTH
2,0002! +20kg +2 4 *6 K| £ 480
OBAZI|R(HES 105) 30,0002 %105 300
O+HUS(2YF, AT, SFA &HI)
2 940 7 50, 00021 %5071 2,500
OZ5 2 592 HHEX 50,0002 * 1074 500
0Z? ¢ 500, 0002 * 141 500
O+9% 218 10,0002 * 10071 1,000
O+YT ASAE 800, 00021 +122 9,600
OREBIY(MAI| S) 1,000,000 14! 1,000
OgAazoe HAYS U 54 29
500, 00021 #14] 500
O+ ASAX ZAH 50,0002 %64 300
401 AlEHIL =20 146,010 71,000 75,010
01 AlZH] 145,110 71,000 74,110
OLISHHSR L =7F B2 N
105, 110, 00021 *14] 105, 110
OHEl A8 RX 24(A2, ®II, 28)
20,000,000 14! 20,000
O RN B4(+YF, BAH)
20, 00024 *5007H 10,000
ONMEXY o +222) 10,000, 00024 #14] 10,000
03 Al&SCHY| 900 0 900
OLISHHS2 L 57F N
100,000, 0002 %0.9/100 900
405 RArFESH) 14,000 29,540 A 15,540
01 TUUSBFHSY] 14,000 29,540 A15,540
OB A 2,000,000 +1CH 2,000
OYBEIZ 5,000,000% *1CH 5,000
OYF 213t W ME 7Y
5,000,000% * 1CH 5,000
OMO0I2 2,000,0002 *1CH 2,000
R ENEEE 10,860,808 12,419,311 A1,558,503




SN HAAHS D
M HSA LS
o9l BTASALEHS (el &2)
SN-EHH . SH(BH) - HPAY - BE2 Ofl &+ 04 giﬂgﬁ; B2
2 2,900,000
= 1,680,300
Al 6,280,508
ZZHSALHE 9,252,000 11,085,657 ~1,783,657
2 2,900,000
= 1,680,300
Al 4,671,700
MEEsy FIE AY 1,918,000 2,052,270 £134,270
= 500,000
= 350, 100
Al 1,067,900
401 AlSHIL 20| 1,918,000 2,052,270 ~134,270
= 500,000
= 350, 100
Al 1,067,900
01 Al&H] 1,900,000 2,040,000 140,000
OHZERE FIIE 2
1,900,000, 00021 *14] 1,900,000
2 495,320
= 346,860
Al 1,057,820
03 Al&=CHYl 18,000 12,270 5,730
OMZERL ZIIZ 208 18,000,008 14! 18,000
4,680
= 3,240
Al 10,080
MEHSI T4 1,000,000 1,000,000 0
= 500,000
Al 500,000
401 AlEHIL 20| 1,000,000 1,000,000 0
= 500,000
Al 500,000
01 Al&H] 993,740 993,740 0
OMEXSZE E4(14,010m)
993,740,0002 * 14! 993, 740
bl 496,870




SA
X XH .
(=

chel:

K- E3 .S (3H) - MBAY - B gggf; HRS2
Al 496,870
03 Al&20iY| 6,260 6,260 0
OMENSZ2E =4(14,010m)
6,260,000 * 1A 6,260
iy 3,130
Al 3,130
SEH=s2 HE 6,334,000 6,266,000 68,000
iy 1,900,000
= 1,330,200
Al , 103,800
401 AIEHIZE204H] ,334,000 6,266,000 68,000
g ,900, 000
== ,330,200
Al ,103,800
01 Al&H] ,250,000 6,005,680 755,680
OZedsa HE 5,250,000,000& * 14! ,250,000
,575,000
o= ,102,500
Al ,572,500
02 Ze2lbl ,008,000 250,670 757,330
OdHA 22| 1,008,000, 000& =14 ,008,000
g 302,400
== 211,680
Al 493,920
03 A& S0ibI 76,000 9,650 66,350
OZedsa HE 76,000,000 14! 76,000
Ray 22,600
& 16,020
Al 37,380
MEXSAEES ,401,068 563,440 837,628
AF=dE H 2] L A &2 =4 ,003, 150 0 1,003, 150
401 Al&EHILE204H] ,003, 150 0 1,003, 150
01 Al&H] ,000,000 0 1,000,000
OeF=A &H 2D & NHEAHEZ2 ZH (1R,
L=4.7km) 1,000,000, 000& =14 ,000,000
03 A& 3,150 0 3,150




S ASHF
M WSANELSHS

ol MEBHSALHE (£49: & 2)
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K '@,‘;OH Hlw &2
OAl & =TI 1,000,000,000%0.63/100%0.5 3,150
OFTE THMAIA &% 151,080 0 151,080
401 AEHI L2 151,080 0 151,080
L 150,000 0 150,000
OOIPE o SHAIA 150,000,000 *14! 150,000
03 AlZ=0i] 1,080 0 1,080
OOFRE IHAIL &X|
150,000,008 +0.72/100 1,080
SDSK 22 MEHSAL 23 155, 109 0 155, 109
401 AN&HILRHY 155, 109 0 155, 109
01 A&H] 154,000 0 154,000
OMEHSAE S (SHS)
154,000,000 *14! 154,000
03 Al&=CH| 1,109 0 1,109
OMEBHSAE &x|
154,000,000 +0.72/ 100 1,109
gl SRR x4 91,729 0 91,729
401 AN&HLLHY 91,729 0 91,729
01 A& 91,000 0 91,000
O& A& HHI 10,000, 0002 * 14} 10,000
OZ7F 3% 2 HOAIZ  81,000,0008 14! 81,000
03 A& 729 0 729
OYel&E SREHX X4
81,000,00020.90/100 729
SUHSALES 206,240 817,162 £610,922
SUHSAE 23 2 RR2e 206,240 205,520 720
201 er2o| 4,800 4,800 0
VR 4,800 4,800 0
O1 2222 2 MAl 4,800
>EUTSNE ZBR3
10,0002 474 2 * 1284 4,800
401 AN&HLLHY 201,440 200,720 720
01 A&H] 200,000 200,000 0
OSUl HMSAIA &3 100,000,000 *14! 100,000
OSUl MSAE 24 4,000,0002! %257 £ 100,000




S ASHF
M WSANELHS

el SUMSAZES CER:E
_ ) _ pofEN
SAN-ZH-SA(FA) - NFAY - BES O AF K ‘Oﬂ/i\_Fo” Hlw &2
03 A0t 1,440 720 720
OsUMSAE X & E=
200,000,000 *0.72/100 1,440
SEMSAE 22 1,500 3,052 A1,652
SEMsAE 2l 1,500 3,052 A 1,652
202 OdHl 1,500 1,692 A192
01 =UWobl 1,500 1,692 A192
OJl2AMgF=T I 125,000 128 1,500
HY2AZH(AZHSDH) 122,830 65,018 57,812
ol (HLM=D) 75,282 30,570 44,712
eIz H| 75,282 30,570 44,712
101 elAH] 71,082 26,370 44,712
02 =¢ 54,169 26,370 27,799
OAlIZtel 28 7,457 3 1421300 A] 2+ 31,320
OF==0HMSdH 22,849
>ARIRIZR+E 7,457 21621 x360 Al 2+ 16,108
e =] 56,1753 x621x20 6,741
08 JIEIAE = 16,913 0 16,913
OCHIAZZ(AF=IUMSHH) 16,913
DARIRIZR=E 6,342 x421 %180 Al 2+ 4,567
Do 2R 16,9123 »2021+365 12,346
203 YRFA 4,200 4,200 0
04 2A2EY 4,200 4,200 0
OFRNMSEYRF 350,000& 123 4,200
|2 (AL S 47,548 34,448 13,100
224l 47,548 34,448 13,100
201 eted 36,628 27,760 8,868
01 AtE2tel 33,108 22,560 10,548
O1 ger=+=8H 19,500
DEMZE SRESHI(SAXIL 158)
1,500,000& 128 18,000
>elOld ZelHol EH, &4
300, 000& »5CH 1,500
O5 Sl 13,608




M AZHFH
Mx: BHSAAH (HLHED)
Sel: J|=AH (AL HS D) (29 @@
- _ . NE
SN BB S(BH) - HEAIY - HA2 Of] & o e HDE2
DOt 5222 7,000& *1401%33| * 12& 3,528
>=0NSME S|
7,000& *621%203| *12& 10,080
02 =32ZH| 3,520 5,200 A 1,680
O1 2222 2 HA 2,520
DRERIS 1,7503 #1202 =123 2,520
O3 A& &8l sl 1,000
>SA| SR 500,000& +1CH*23| 1,000
202 O bl 10,920 5,688 5,232
01 =ZUWodl 10,920 5,688 5,232
OJ|I2g 23 0dd| 910,000& x12& 10,920




